&

K. & Bopoaiainol «

68000pF+10%
500/1500V=

&

K& Bapoutanol «

68000pF+10%
500/1500V=—

&

K. €. Bopoaiainol «

100000pF+10%
500/1500V=

&

K. & Bopowiunol «

100000pF+10%
500/1500vV=

&

K. & Bopouianol«

68000pF+10%
500/1500V=

&

K. €. Bopouiunob «

68000pF+10%
500/1500V=—

&

K. & Bopoainol «

100000pF+10%
500/ 1500 V=

&

K. E. Bopoaiainol «

100000pF+10%
500/1500V=

&

K. & Bopouianolb«

68000pF+10%
500/1500V=—

&

K. & Bepouanol «

68000pF+10%
500/1500V=

&

K. €. Bopouanob«

T00000pF+10%
500/ 1500V=—

&

K. €. Bopoaanob «

T00000pF+10%
500/1500V=—




